
Math 9 Assignment – Real Numbers, Integer Exponents, Polynomials (01, 02 and 03A) 

1 Circle the numbers that are rational but not integer: 
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3 10 − 5(4 − 6) + 3 ∙ 5 =  
 
 
 
 

4 Simplify; answer should not contain negative exponents: 
 

A)  (−3𝑥5𝑦−2)2(5𝑥7𝑦5) 
 
 
 

B)  
−3𝑥−5

𝑥10  

 
 
 

C)  (
−2𝑥5

3𝑦−4)
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D)  (10𝑥7)(5𝑥3)−2 
 
 
 
 
 

5 Multiply:   (2𝑥 − 3)(4𝑥2 − 5𝑥 − 2) 
 
 
 
 
 
 
 
 



 
 

6 Divide:   (3𝑥2 − 2𝑥 + 4) ÷ (𝑥 − 2) 
 
 
 
 
 
 
 
 
 
 

7 Divide:  
15𝑥2𝑦−3𝑥𝑦

−3𝑥𝑦
 

 
 
 
 
 
 
 
 
 

 


